



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{3}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{6}\right) =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{50}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{23}{36}\right)$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) = (-1)$$

$$\left(\frac{3}{5}\right)^3 - \frac{2}{5} = \left(-\frac{23}{125}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{77}{750}\right)$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} = \left(-\frac{35}{216}\right)$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{59}{320}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{5} = \frac{24}{25}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{2} = \frac{9}{16}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{4} = \frac{15}{64}$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{483}{500}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \frac{3}{4} = \left(-\frac{23}{36}\right)$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{101}{375}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{6}\right) = \frac{49}{192}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{2}{5} = \left(-\frac{1}{25}\right)$$

$$\left(\frac{1}{3}\right) + \left(-\frac{1}{5}\right) = \frac{2}{15}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{6}\right) = \frac{7}{30}$$